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Complex Numbers (Basic) 
 
1. What is the sum of the complex numbers 3 − 3𝑖 and  

3 + 3𝑖 ?  

 A.   0 

 B.   6 

 C.   18 

 D.   6𝑖 
 E.   18 − 6𝑖 
 

2. What is the product of the complex numbers 3 − 3𝑖 and 

3 + 3𝑖 ?  

 A.   0 

 B.   6 

 C.   18 

 D.   6𝑖  
 E.    18 − 6𝑖 

 

3.                    (3 − 3𝑖) − (3 + 3𝑖) = 𝑎 + 𝑏𝑖 
 

In the equation above, 𝑎 and 𝑏 are real numbers and  

𝑖 =  √−1. What is the value of 𝑏? 

 A.  −6 

 B.  −6𝑖 
 C.   0 

 D.   6 

 E.   6𝑖 
 

4. In the complex number plane, where 𝑖2 = −1, what 

complex number 𝑥 is a solution to the equation  

 𝑥(4 + 2𝑖) = 10? 

 A. −5    

 B. −2 + 𝑖    
 C.    1 − 4𝑖 
 D.    2 − 𝑖 
 E.    5   

 

5. For 𝑖2 = −1, (𝑖 − 4)2 =   

 A. −17 

 B. −15 + 8𝑖 
 C.      15 − 8𝑖 
 D.     15  

 E.     16 

  



 

6. In the complex number plane, where 𝑖 = √−1, which of 

the following expressions is equivalent to  
   1 − 𝑖

−5 + 𝑖
 ? 

 A. −
3

13
+

2

13
𝑖 

 B.  −
2

13
+

3

13
𝑖 

 C.    
2

13
−

3

13
𝑖 

 D.      
3

13
−

2

13
𝑖 

 E.     
3

13
 

 

7. Jaylen has been working on a quadratic equation problem 

and has found his answer to be 𝑥 = 8 ± √−16𝑎2. Which 

of the following gives Jaylen’s answer in complex form? 

 A. 8 ±  𝑎𝑖 
 B. 8 ±  2𝑎𝑖 
 C. 8 ±  4𝑎𝑖 
 D. 8 ±  8𝑎𝑖 
 E. 8 ±  16𝑎𝑖 

 

8. Which of the following is equal to (3𝑖 + 3)2 ? 

 A. 0 

 B. 9 

 C. 18 

 D. 9𝑖  
 E. 18𝑖 
 

9. Which of the following expressions is equivalent to 
𝑖

9−𝑖
 ? 

 A. −
1

9
  

 B.      
1

9
  

 C.     
1

81
+

1

9
𝑖 

 D.     
1

82
+

9

82
𝑖 

 E. −
1

82
+

9

82
𝑖 

 

 



 

10. What is the distance, in coordinate units, between  

 6 − 2𝑖 and −3 + 4𝑖 in the complex plane?  

 A. 5  
 B. 26  

 C. √73 

 D. √117 

 E. √137 

 

 

11. The product of two complex numbers is 36. If one of the 

numbers is the complex number 4 + 𝑖, what is the other 

number? 

 A. 24 − 3𝑖  

 B. 
144

17
−

36

17
𝑖 

 C. 9 + 36𝑖 

 D. 4 − 𝑖 

 E. 
1

9
+

1

36
𝑖 

 

12.                                           𝑖2 + (−𝑖)2 

 

 In the complex number system, which of the following is 

equivalent to the expression above? 

 A. −2𝑖  
 B. −2  
 C.     0 

 D.    2 

 E.    2𝑖 
 

13.                      (11 − 3𝑖)(7 − 6𝑖) = 𝑐 + 𝑑𝑖 
 

 In the equation above, 𝑐 and 𝑑 are real numbers and  

 𝑖 =  √−1. What is the value of 𝑐? 

 A. −87  
 B.    0  
 C.    18 

 D.    59 

 E.    77 

 

 

 


